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K4 FriEREF K& BF FH IUM)J=41 L BALE
1 & F KS CER=R)I 5/ 4 15. 71 15. 80 0.09
2 ROk J—ZXAC 2/ 3 21.75 21.61 0.14
3 FAH Fnz KSC#%F~x 4/ 4 16. 15 16. 00 0.15
4 ¥ FXE S TKIE 4/ 3 17. 81 18. 00 0.19
5 JF/K B = 2/ 4 18.79 19. 00 0.21
5 = & = 3/ 3 23.73 23. 94 0.21
. KEA KS CE=R)I 5/ 5 16. 17 16. 50 0.33
T RS RHT HTLESS 5/ 1 24. 67 25. 00 0.33
9 3K HE S TKIE 3/ 2 24. 55 25. 00 0.45
9 = fiik J—ZXAC 5/ 3 16. 55 17.00 0.45
11 %l 1EZR KSCTH 3/ 6 24. 51 24. 00 0.51
12 =8 & KSCTH 4/ 5 17. 02 16. 50 0.52
13 HE R aVy vy 3/ 5 22.76 29. 92 0. 54
14 WA EHZ KS C#%F X 3/ 4 17.91 17.35 0.56
15 A% EA ST KIE 4/ 6 18. 72 18. 00 0.72
16 Ll & avVy v 2/ 2 23. 11 24. 00 0. 89
17 = F ] = 2/ 6 20. 88 21. 80 0.92
18 #mwe % KSC#F~ 2/ 5 20. 55 21. 50 0.95
19 Ek Kk KSC#F~ 5/ 2 21. 20 20. 00 1.20
20 HH & KSCTH 4/ 1 21.57 23.00 1.43
21 eI Fnse KSCTH 1/ 5 29. 97 28. 50 1.47
22 EJFR[EY KSC#F~x 5/ 6 18. 37 20. 00 1.63
23 /U EH HTLESS 5/ 7 18. 31 20. 00 1.69
24 VeV 5O HPFLESS 3/ 1 27.03 28. 74 1.71
25 JEAR  IFiE KSCTH 4/ 2 18. 01 21. 00 2.99
26 HH fH ] S TKIE 3/ 7 24. 09 28. 00 3.91
27 WMHa ik TA e ~w—1 4/ 1 20. 96 26. 00 5. 04
28 #Hr B S T =5 1/ 6 36. 10 41. 20 5.10
29 ZZH Fnid JAWS C 1/ 3 52. 35 40. 00 12. 35
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